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(English Version)
Instruetions :

(i) First 15 minutes are allotted for the candidate
(ti) Al questions are compulsory.

(iii)

(tv)

s toread the question paper.

{llustrate your answers with labelled diagrams, wherever necessary.
Marks allotted to each question are mentioned against 1t,

(Multiple Choice Questions)

1. Choose the correct option and write in your answer-book -

(a) Which enzyme cuts the DNA at specific site ?

1
(1) Ligase

(i)  Exonuclease
ST i

(iv)

Endonuelease

P Ulymerase



(b)

(c)

(d)

2. (a)
(b)
(c)

(d)

(e)

3. (a

(b)
(c)
(d)
(e)

48 (CK)

According to Allen’s rule, mammals in colder climates generally have : 1

(i)  Shorter limbs and body appendages

(i)  Longer limbs and body appendages

(iii) Smaller body size S
(iv)  All organs and appendages of equal size

The phenotypic ratio of a Mendelian dihybrid cross is : 1

@ 9:3:3:1

@ 9:7

@) 3:1

Gv) 1:2:1

Testosterone hormone is secreted by 1

{) Sertoli cells

(i) Epididymis

(iii)  Germ cells

(iv)  Leydig cells

(Definite Answer Type Questions)

Write the full form of ZIFT and MTP. 1L
2 2

Define codominance. 1

Explain the type of pollination in cleistogamous flowers. 1

Write the number of chromosomes in trisomic and monosomic conditions in

humans. ! + I
2 2

Give any two causes of biodiversity loss. .z
2 2

(Very Short Answer Type Questions)

Define the term ‘health’. Mention any two important factors to maintain

good health. 141

Briefly explain Gause’s competitive exclusion principle. 9

Define allele. Comment upon multiple allelism with examples. 1+1

| Briefly explain the inheritance of sex-linked recessive character in humans. 2

Comment upon the xerophytic adaptation in desert plants 2

: PTO.



(Short Answer Type Questions)
& (&) What is hybridization ? Describe the process and importance of artificial

hybridization in brief. 1+2
(b) Comment on tRNA. 3
{¢)  Write short notes on the following : 1
(i) Filanasis I 2
11
(ii)  Polyembryony* 2
(d) Describe the principle of immunization in brief. Add a note on passive
immunization. 2+1
8. (a) With the help of two suitable examples, explain the vegetative propagation
in plants. J
(b)  Briefly describe the steps of production of human insulin using rDNA
technology. 3
(¢} What is restriction endonuclease ? Give any two examples. 1+2
(d)  Define immunity. Differentiate between innate and acquired immunity
with suitable examples 1+2
6. (a)  Define sewage. Describe the biological treatment of sewage in brief, 142
by Write short notes on the following |
(i) Bimii\'('rﬁlf} hotspot ] !
(11)  Biopiracy 1
icl What is double fertilization ” Fxplan ;_,_L-_g
' What are cloning vectors ” Briefly explain the characteristics of cloning
vectors. I+2
i (Long Answer Type Questions)
7.  Deacribe the process of spermatogenesis in brief. Add a note on the role of FSH
and LH in spermatogenesis. 0! sl
2 2
OR
Define pollination Brief] ' i : TIPSR
- tly describe different kinds of poll :
plants, pollination in ﬂowenng \
+3

M8 (CK) .
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Define population. Discuss different attributes of popﬁiajﬁlron. 1+4

OR

Give a detailed account of various strategies adopted for the conservation of
biodiversity.

5

What is transcription ? Briefly describe the mechanism of transcription in
1+4

prokaryotes,
OR

Add a note on symbols

Explain the role of pedigree analysis in human genetics.
3+2

used in pedigree analysis.



